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1. Answer any fifteen questions : [15x1 = 15]
a) When and where did Shivaji’s coronation take place?
b) Name the ruling dynasties of Bijapur and Golconda.
c) State two factors behind the fall of the Mughal Empire.
d) Name any two successor states created after the fall of the Mughal Empire.
e) What is Dastak?
f)  When and between whom was the battle of Buxar fought?
g) When and from whom did the English East India Company receive Diwani?
h) When and by whom was the Asiatic Society established?
i)  Who introduced the Permanent Settlement and when?
J)  Who was the founder of Fort William College?
k) Name any two missionaries of the Srirampore Baptist Mission.
I) Name any two reformer of the ‘Bengal Renaissance’.
m) When was the Wood’s despatch passed?
n) Who introduced the Doctrine of Lapse and when?
0) Name two leaders of the revolt of 1857.
p) Who was the first president of Indian National Congress?
g) What is meant by Surat Split?
r)  Name any two Swadeshi Enterprises during the partition of Bengal.
s) Inwhich year Jallianwallabagh massacre occurred?
t)  In which year was the Gandhi-Irwin Pact signed?

2. Answer any four questions : [15x4 = 60]
a) Write a note on Shivaji as an administrator. What were his limitations? [12+3]
b) What were the main causes behind the conflict between Siraj and English East India Company?
What was the historical importance of the battle of Plassey? [12+3]
¢) Why was the Permanent Settlement introduced?
Briefly state its impact on the zaminders and peasants. [10+5]
d) Make an estimate of Rammohan Roy as a reformer. [15]
e) State the factors behind the revolt of 18577 [15]
f)  Write an essay on the Swadeshi movement in Bengal. [15]
g) Why did Gandhi start the Civil Disobedience movement? Briefly state its significance. [10+5]
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